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B8, RERHAN

1.1 BEHRR

B 7 M
http://www.oliverwyman.com/

BRZ A A W A BRI R Y 4 AT Ml R XU B 2 A4 S ) A F] A R RO T 2003 4F 4
i Oliver, Wyman & Company (37T 1984 4£) Fl Mercer Inc. ()4 @l IR 45 5w 505 20350 1] & R A %,
PL7E & Marsh & McLennan Companies, Inc.(MMC)JiE N1 — K A#F . AFIA 650 4 it L, oA FIb3E.
KRR 1) 12 ANE KM 25 A o S E AT W R i B AR B & P iR e H s &
RZEREL . ENSMIRFSATIWVERMNERES S EH 5L, WAENZ KGR 100 K K
ML) 80%.

B 1) N T IR 55 43 7S R AT .

SR B P B 43 I 1) R 5% DA 8 5 2 A0 1) R JEE R R DR A DA RO A FIARAT L 55 . LA AR AT
% BERATISS R AR AT b 25 FTOR S M 55 i 8 B 1 45 44 A 1) AR IR T

Ub Al BRI A B DR AR A B A O A BRI L 5% KU R RN R 1 1 A5 S R BRI
AU ) A AT R BRIV AT R R T S, R R U5 A% 0 W 55 R AR RRE O IR 2 A ] R

AR AT BRI A 55 ThRE MR T B A7 Ml 1 3 B VR B A 72 LI R e =, R A
THI A 280 35 B & 7 g el 25 v i 3 21 Y )

WM AT 8007 T8 B A Bk E R AT I I 300 52 988 B Pk AR FRATTAN 4 BRYE [l P 1 Mt 8 LA A L AR
R TR 5 e U BE R . B A F0 B4 % ) A SR BRI 25 A% HoAb & 5, HEShE R A . B LA
ATk s e 2 Al A iR L R F H )

L SRARAR T T 22 B A M, R AT LA el B T ks http://www.oliverwyman.com/

F_E. RaREHRERR

2.1 WARSEE PTA

AR TN JmAE BBS, RARE: 2017 47 H 25 H
Hudik:  http://bbs.yingjiesheng.com/thread-2109146-1-1.html

off-cycle 55 >J ) FL i I i o

BRER B B ERAG, REX 5 TR EE G, AN AR RA R SEIL NG T
—/> market sizing 11/ case, ffiih FilE—RoH LD RHLEE . R T MHESE, JHBE R AR
B RESR] T offer.
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222017 OT kB! ' 1 11

ASCE R TR |4 BBS, KAmRTH]: 2016 410 H 25 H
HbJik:  http://bbs.yingjiesheng.com/thread-2062845-1-1.html

6. In the game Connect 4 players place their counters into a 7 X 6 board, and a winning position consists of
four counters in a row, either horizontally, vertically or diagonally. How many winning positions are there?
A) 57

B) 42

C) 82

D) 69

E) 70

KRB, IXTE R EAFW? ot AL HHIPRE) T, tRBekdk~~

2.3 2016 summer intern shanghai H%

ASCIFE R TN JmAE BBS, RARRKE: 2016 43 H 17 H
Hidik:  http://bbs.yingjiesheng.com/thread-2035600-1-1.html

oliver wyman 2 152>

Yat: BA, BTR. ZHBAKYE, EHEYS case mANE T greenpass T 2% 7B B NIRRT .
HSRPEEWETHET . o« o o« HIGRFBIT RN

30 %1 case. all in English.

case: Suppose our client is a local gym company. Candidates should estimate the market size of the gym in Shanghai and
entry-market problems related...

me: start from the revenue of it. T2k price F1 volume P84, JRGEIX B R AR Tl AR [ eeeee

1. price: [HAREFEML 1 PIAEE R (membership fee & extra coach fee)

2. volume: population in SH * proportion of people who will go to the gym...(FF 18] S At 5. DL R B 232 19l iz H
4 approach )

30min B[] — ST E AT G AR - - -« AR RAT S e At 1e) R AR T

A 2R E ow FIBTRISEAER R 1o B rp. KX UfFiE~

ps: A NA L mek pst BB FIER R K. WE EAMF:  mconsulting prep 50 —%&; A —Fhr)2 200 —
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B EEMATKMFERATSE T ~. (5 3000+524E KT KA -+

mail: yikhokwok@163.com

2.4 RE)KRMEBZ XA GHIBHAT LS OT T ?

ASCFE R TR JmAE BBS, KAGKE: 2016 4F 3 H 17 H
HbJik:  http://bbs.yingjiesheng.com/thread-1997917-1-1.html

FTEKRAMAZET

OW MIRHEH L. .

FEME (I HD 9 MZissi I HiE
459 S Z kIR test T

i PR A2 218 = midday
BRI 21 Rl .

iy OT

Critical () ELHEHER T R ... 8 T - EIA A LA AR SR 1

FUR ()

KFIFIZIE

2.5 2016 Oliver Wyman Online Test RAREERT

AR R TR s BBS, KATHSHE: 2015 4 10 H 16 H
HhJik:  http://bbs.yingjiesheng.com/thread-1989048-1-1.html

Z

C

OW [PIRRBLUFATENF, BEENIRIE 5 7 OW 1) OT, MR IR GE A /M, BT —BHIR EX OW, B2
BB AR RR 4R T~

JEEAZ U T, MRESZE— TN NEZE, #4Ai QvQ

num A1 verbal /&35 F1 GMAT %2~ B[] problem solving PL & iE SC B 1 critical reasoning 1R1%, KZKA] PAFRIX 7 THIH
TERMAZTF, (A1 — P02 R0 num B IR 2 M2/, 18 SORMEZ 5T LA skip TR 2 ORI [HIE 2K K
KKRAKT) 5 F OW e BRI — o0 1, AEIEES, 7ERTER S BE Ol S i SLIR 25 5000 28
. A— s REZE, WIget e AR TEANBITHR B, —HFEERE RIL, AR ER G T L Eab T
RZHP, MG SAZZED 2 % TR =8 e, 7ERFRACSR VR RIS OL T, w810 AR L e B2 T
fETHZ RIS OW 1, PR W ik~

2.6 —HEIEMMETE ? M OT Numerical sample

ARG R TN JmAE BBS, KAmEFE]: 2015 410 H 19 H
Hhdik:  http://bbs.yingjiesheng.com/thread-1990011-1-1.html

R HERS IR g AE — AN SR B B B () UM LR, OT AR i fff SEAlE 21 J L IR AE LR B i), (HIRE 2R T .
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I — T g e A,
HFIMELES Tuesday 19th.... T LA A — H it A — A A i3 2
BEARERPIZ O L T ...

OW online test numerical sample question

1. You have a jar filled with red, yellow and blue balls. What is the minimum number of balls you
must pick

out to guarantee 3 balls of the same color?

2. I have 19 bills totaling $215. The value of each bill is either $5 or $20. I have 9 bills in
my pocket. What is

range of money in my pocket?

3. Whats the area of the shaded region if the length of a side of a square is 1.

4. I shuffle a deck of cards and randomly pick one card and keep it aside. It is an Ace of Hearts.
What is the

probability that the next card I pick up is a heart or an ace?

5. An athlete has 75% of winning the race if he is not injured. If he is injured, his probability
of winning the

race is only 15%. If he total chances of winning is 51%, what is the probability that he gets injured?
6. A bakery sold 10 more cakes this month than it did the last month. It also sold 3 times as many
cakes than

the month before that. If that total number of cakes it sold in the last 3 months is 116, how many
cakes did it

sell this month?

7. What is the area of the shaded region given AB = 2 cm and CAB form a right angle?

S Ji A2 SR BRI http://maww.yingjiesheng.com ¥ 6
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| believe the answer is — Insufficient Data

8. I have a lawn that measures 9m by bm. I dig a Im flowerbed around it. What is the new area of
my lawn?

9. I have a stock that is expected to grow 330% in the next 8 years. What is its average annual
growth rate?

10. You have an equilateral triangle of length 1 that is divided into 9 smaller equilateral triangles.
What is the

total perimeter of the 9 triangles?

11. Currently, Country A’ s energy demand is fulfilled by the following: 0il - 40%, Coal - 45%
and

Windmills - 450 total. The energy demand is expected to grow by 20% by next year. However, oil
reserves

are expected to go down by 10% and coal by 8%. How many more windmills will need to be built by
next

year to support the country growing energy demands?

1. If x is odd and y is even, which of the following will be even?

A x2 - vy 2

B) x + 2y

C) xy -

D) xy - x

E) x +v

2. What is the mean of the 25 numbers (a*b), for a and b being all combinations of the numbers
1-59

A9

B) 13

C)7

D)11

E)5

3. A pen normally costs $0.60, but the promotion promises a deal whereby a customer can buy twelve
pens

for the price of ten. What saving does this represent, per pen?

A) $0.15

B) $0.10

b=
bd
S
b=
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C) $0.12

D) $0.06

E) $0.05

4. x divides by 2, but does not divide by 3. Which of these statements is definitely false?

A) x is a prime

B) x=x 2

C) x is a square number

D) x is even

E) x > 10

5. In January, Website A received 30, 000 hits, and Website B received 20, 000. In February, A received
31, 000

and B 24, 000. Every month A’ s hits go up by 1,000 more than they increased the previous month,
while B” s

hits grow at a constant percentage rate. When will B overtake A?

A) April

B) July

C) May

D) June

E) Never

6. In the game Connect 4 players place their counters into a 7X6 board, and a winning position
consists of

four counters in a row, either horizontally, vertically or diagonally. How many winning positions
are there?

A) 57

B) 42

C) 82

D) 69

E) 70

7. The average customer call to Phoneinc takes eight minutes, and operators work one of three
eight-hour

shifts. From 9pm—bam, 10% of calls are received, and from bam—1pm 100 operators are on shift. If
half of all

callers ring from 1pm—9pm, how many people call Phoneinc in one day?

A) 15,000
B) 60, 000
C) 12,000
D) 16,000
E) 1875

8. Viola has a 30% chance of winning the 100m, a 1 in 4 chance of winning the 200m and an 0. 8 chance
of

winning the long jump. What is the probability she wins all three events?

A) 0.120

B) 0.067

C) 0.105

S Ji A2 SR BRI http://maww.yingjiesheng.com ¥ 8
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D) 0.180

E) 0.060

9. A regular dodecahedron has twelve pentagonal faces, and at each corner three faces touch. How
many

corners does it have?

A) 24

B) 20

C) 12

D) 15

E) 30

10. ABC is a right—angled triangle, with AB=4cm and BC=5cm. What is its area?

A) 10

B) More information needed

C) 6

D) 20

E) 12

11. The basketball player succeeds with 30% of his free throws. If he has a set of free attempts,
what is the

probability he succeeds at least once?

A) 0.343

B) 0.063

C) 0.300

D) 0.657

E) 0.027

12. What is the probability that, in a randomly selected group of seven people, one person will
have been

born on each day of the week?

A) 1/ (1%2%3%4%5%6%7)

B) (1%2%3%4%5%6) /(7 7)
C) (1%2%3%4%5%6) /(77 6)
D) 1/7

E) 1/ (1+2+3+4+5+6+7)

13. The dimensions of the package 2.5m by 3m by 4m. What is its surface area?

60

51.5

59

30.0

29.5

14. Sales have just finished their eighth year of steady growth, and are now twice what they were

O =
~— — N N

m O

8 years
ago. What is the annual percentage increase?
A) 10.0
B) 12.5
C) 18.9

b=
bd
S
b=
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D) 9.0
E) 14.7

1. There were 5 people in group A, with a mean IQ of 100, and five in group B, with a mean IQ of
74. When

Jack left the group A for group B, both means increased, and the total of the two new means was
180. What’ s

Jacks 1Q? 87, 75, 94, 60, 80

2. To convert a temperature from Celsius to Fahrenheit, multiply by 9, divide by 5, and add 32.
What

temperature is the same on both scales? 40, -32, -72, 72, —40

3. A roulette wheel has 37 sections, 18 of which are red. If you bet on red and win, you double
your money.

Fyodor plays 111 games, staking $50 on red each time. How much money, on average, would he expect
to

win for his $5,500? 5700, 5550, 5500, 5250, 5400

4. What is the mean of the 25 numbers (a*b), for a and b being all combinations of the numbers
1-5? 5, 7, 13,

11, 9

5. The basketball player succeeds with 30% of his free throws. If he has a set of three attempts,
what is the

probability he succeeds at least once? 0.657, 0.027, 0.063, 0.300, 0.343

6. Every year the sales of LossCo fall to 80% of their value a year before. If its sales were $50, 000
in 2003,

what were they in 20067 400, 20000, 25600, 32000, 25000

7. The president of the USA serves terms of four years, with a maximum of two terms. If a century
sees 16

presidents, how many of them served a second term? 7, 9, 10, 4, 8

8. Xavier’ s office is diametrically opposite to his house, on the outside of a circular park.
Normally, he cycles

straight across the park, which takes ten minutes. However, this morning, he has to cycle around
it. How

much longer is his journey? 15.7min, 10min, 2.7min, bmin, 5. 7min

9. Dave has a set of 27 weights, all identical except that one is fractionally lighter than the
rest. He has a set

of scales which allow him to place the same number of weights on each side. How many times must
he use

the scales to be certain of identifying the lighter weight? 3, 9, 4, 6, 5

10. My lawn was 5m by 9m, but now I’ ve dug a Im—wide flowerbed into it, around the edge. What
percentage of the area of the old lawn is the area of the new lawn? 46.7, 77.7, 37.7, 53.3, 71.1
11. Nigel has $6.20 to spend, and wants to fill his bag with vegetables. Aubergines cost $0. 50,
courgettes cost

$0. 20, he has room for 22 pieces and wants to spend as much as possible. How many courgettes should
he

S Ji A2 SR BRI http://maww.yingjiesheng.com 10 U1 3 20
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buy? 16, 31, 22, 6

12. Anne thinks of a whole number from 1 to 10, before rolling a sic sided dice and adding the
numbers

together. What is the probability that the result is divisible by 3? 5/16, 1/3, 19/60, 3/10, more
information

needed

13. ChocoCo want to improve sales of its chocolate bars. The bars are currently 3X8 squares and
cost $0. 12

in raw materials, and it wants to increase this to 4X10 aquares. If an extra 750,000 bars are
sold, how much

will costs have increased? 240, 000; 90, 000; 60,000; 150, 000; 120, 000

14. It takes Nora two hours to paint a wall bm by 8m, and Zack three hours to paint a wall 4m by
9m.

Together, how long will it take them to paint a wall 10m by 12m? 3h45min, 3h, 2h30min, 4h, 3h30min
15. If a>b > ¢ > 0, which of the following is certainly true? a>b+c, ab>ac, a>bc, ac>b 2, ab>c
16. The company has annual sales of $600, 000, of which 5% is profit. The CEO wants to increase
the profit

margin to 10%, but costs are set to rise 15%. By how much must sales increase? 52,050; 128, 333;
136, 667;

91, 553; 121, 050

17. 0f the 500 employees, 30% went to University A, of whom 16% come from Town B, of whom 25% went
to College C, of whom 50% went to School D. How many employees went to School D? 3, 6, 10, 12,
2

18. A regular octahedron has eight faces, each of which is an equilateral triangle. How many edges
does it

have? 8, 16, 24, 12, 20

19. In 2003, Company A’ s sales were $300, 000, and it is growing 16% annually. Every year, Company
B’ s

sales are $100, 000 more than Company A’ s. What was the average annual growth for Company B between
2003 and 2005? 12, 16, 12.2, 11.4, 25.9

20. A snowman is made of spheres of two spheres of snow. The base has diameter 1m, the head 0. 5m.
What

proportion of the snowman’ s weight comes from its base? 8/9, 2/3, 9/10, 3/4, 4/5

2.7 2016 summer intern shanghai H£&

ACJER TR a4 BBS, KANE: 2016 4E 3 H 17 H
Hhlik:  http://bbs.yingjiesheng.com/thread-2035600-1-1.html

oliver wyman 2 ]52>] .

B EA, BIAL. ZaeARE, EHEPES case BAME T greenpass T % TR B NTHIAIA T .
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30 431 case. all in English.

case: Suppose our client is a local gym company. Candidates should estimate the market size of the gym in Shanghai and
entry-market problems related...

me: start from the revenue of it. T2 4% price 1 volume FANER Sy, & X Bt 2 B3 TPl 4B 16 ...

1. price: MHEHM T HMHEZERINHE (membership fee & extra coach fee)

2. volume: population in SH * proportion of people who will go to the gym...("H 181 #5 R At 5. DA K T B 2 32 v ki
4 approach 251 7%)

30min A () — TR B St SRR L IR ORI R A i) Ak EE T . .

FHIL ow FIVORISCE RAD T o 758 e K IFIZ~
2.8 IEE Numerical

AR R TR A BBS, KAmET A 2015 46 H 29 H
HbJik:  http://bbs.yingjiesheng.com/thread-1971485-1-1.html

— i FRAR A, 2 %R, i competency —%% case. case FE% unconventional, SE4E it IR ELAIR—IB
ppt, AR ZEE, R iEIRE .

—H

2.9 HIiR 5] 7R

AR TN JmAE BBS, RARKE: 201546 H 29 H
Hudik:  http://bbs.yingjiesheng.com/thread-1971489-1-1.html

Wi~ Case

FH—AMRET, 5 1000 FjE AR A

MR Tough, AL BRI S AR SEANY, FEBFEEEE,  Interviewer — ] =A%
MR T, %% W ¥ Director, Final T2 K EHnik
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2.10 Views about Oliver Wyman From Vault

ASCE R TR R4 BBS, KAmRTH]: 2014 410 H 12 H
HbJik:  http://bbs.yingjiesheng.com/thread-1885083-1-1.html

T B RERT KK i A AT s i) ANKEEATT— A v !
=N

Oliver Wyman.pdf

Oliver Wyman Europe.pdf

2.11 Oliver Wyman Assessment Test in Cambridge, UK

IR ZE5 3 OW 7 SIHFIX] assessment test, B4 T EL£8 06045 35 B4 TIEL

X2 CV KW 5, BSIMeRMNERIEZH), 11 S B NZa 10 At HRIEHET]
HIEA NAESE, I EADENIL. FiX5 WA, numerical 1 718 (] “critical reasoning", numerical ¥
B 2555, Fshl @M ZERZL, H2 HEoE— 5, 30 8 20 70%8h, AR LIRMEMGE, S RENAZTLL, 04
W) T, PAJNA 30 708, SRS AEEH BORMGAE, R T 10 JUE, ROZIERERIE A RIER, instruction
U TATEE T R E B .

HEAS critical reasoning HIRE H ELEAERS, FIZ TSRS IR verbal A—Ff, HEA BAZ — B R /5 4, A GRE
M GMAT B LR, REBREH, i X8 @34 AMAE LONDON 4 Imillion A SE T house, {H 2
A 9million 9 viewing, FrUAZER 2R 2 N2 RE B FMAZ KL+ 1<m LU EA4512 72 undermine DL EY
statement (1), JEIUE A HFN Bk, B AUWMTISE T 3EEA KK,

SR E G R R, MNEGEE N R MAEAKR, BCUAT T, WE R E R
MNGERIXNEL, O PR, 2EE AR, HEEE FT, MEAERA L2 7R A
(1) eco RIEIRAHEW), 1M HINAE ipad FRANM DTG SCE MRS SCRliE, RA M. malar 142 SESAExT Bk
AR A T B .

p.s. Fifl OW 78 E A RIR K, XA REA A4 AR T
2.12 OW London —mH

HIEHRXE T B, KIHSZERAD> ANH london ), A EE KA. share — FIE, BEARFC IR —
i
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M assessment test FF i, AR LFAME, e EE 2L, 30 408 20 @, F2 skip S HEE BRAEIRG R AT ),
SR )5 verbal (11, %%k GMAT logic 23 %42 IER R A L HE AR K, Sl 1 405 L 18/, 80%MMIIEH IR EAZ

(ENEE T 210 —5r) FRECEA verbal #3457 22 IBHIFET, R PRI EMRZEARLZ 90%, N EEFESE
ik, FTUAIRAERTREAR T 18 40 /2 A TR

Ja k&S5 —%, both GMC and FSC

FSC —/~ CV [ — case, CV [HELEL relax.... A id 5Kk FAZ 2|1 feedback +& one of my answer was over
prepared....=.=

case LA A typical.... 5% F mortgage credit risk, 2 H S AR 1R 2 i 26 ... 30 B2 R AN /D28 B[R & . i LA basic econ
AR LF 1% date convert j% graph ffE /IR E 2, FoeriIREERE N Z T — i, RiZz75.

GMC, P4 case, —> airline —/> retail, 25— ANARAKHME, par tHELEGEIR, oAb T . £ 7 —HE data,
WAL HTHE R, 8 JERUIRE G RATN client AR A R T 2 /W82 i HARA S PR AN BARK retailer £t
W), AEMAERGE B OFF, B IFHEYE low profit margin AT large volumn LA K K& branch & H! 73X /& supermarket....
AUFhEL.. XA case HLRRZIRZHE, mHWEAM AR5, TRM MEkiEkn.

7E ORIl RE B CAUEM ! JRRIRR L, RARR. A OW HIRCREE, RA IR, ZHRIHR
K%

WE AT LA points to take away from this experience:

- BB care —MNRPE, HERINEL T AR AL E relax! 1 HIXFE case IR A2 KR 7K

- 1 OW i case A 1R % i 1) element..... T LK K BT U 5. 5] ~~

- A H IR 2 Z ) guide, H—AWMALEE 7, AERIX AT, skim through T 3 4%, HEHKE/N g, 1HP
BRI HE basic 1], employer 55 H € SARFAASKIFBER . “FI Z 81 & — 4 business basics, %A f5 R B & i 1 I3
KT !

2.13 AGHEIAE R

HIERRXE 7, KIS ZA AH london /), A5 2K .share — FIE, BARFR AR EERIH—

#®

M assessment test FF 4G, BURIFAHME, Ft2HE %, 30 4%k 20 B, H2E skip #E0THEIE CBRARRGEHR A )

SR )5 verbal 111, 225 GMAT logic 2042 iy IE B R AR EERS B AR K, S 1 70 Bh 188, 80%[MIEMIFRZEAZ .
(%S T 2B —20) FEEAT verbal #5122 TEPIFE T, FEOPRTZR ST IEMRZEAZ 90%, Ik E %2 K5k,

FrUAFRAE AT RERS T 18 0 A AT o

Ja K E % —%, both GMC and FSC

FSC —/~ CV [fi— case, CV [HEL#L relax.... A id 5 k4G 2 () feedback /& one of my answer was over
prepared....=.=

case LA typical.... 5% T mortgage credit risk, % H AR E 1R 2 28 1. B FE 25 e A /D 235 K 2 . T LA basic econ
AR U714 date convert i graph FIRE /IR, eI RmEERE ZE T —8, Riz5.
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GMC, P/ case, — airline —A> retail, f—/NASKME, par WELEGEIR, 5 ASwibbioft 7. £ 7 —H#E data,
WAL HTHE R, AE S IRE B RAIH client AR T 2 /EW? i HABAS RX AN EARK retailer &Mt
WK, AEARIEBEE 3 OFF, EIFHEAE low profit margin AT large volumn LA K K& branch & H! 73X /& supermarket....
AUFhEE..IX A case HLERZIRZHE, M HWBEAN AR5, TRMIELEm.,

FE RN R ANE B CALEm ! JE RS, KA. Ak OW MRCRERE, IRPA IR, 2R
ik,

W AT LA points to take away from this experience:

- BB care —MNRPE, HERINEL T AR ALFEH ! E relax! 1 HIXFEA case I A 2K K 7K

- 1 OW K case A 1R % i i) element..... T LA R BT U 5. 5] ~~

- WA H IR 2 Z ) guide, B — A AL 7, AEFIX AR, skim through 1 3 4%, HSLHKFE/N g, 1 HF
HHSEHE basic [, employer 55 H € AR AKIFEIR . I 251 82— 55 business basics, 78 J5 X BEA 1 k37
KT !

2.14 AGHEIRE R

IR, BH 1 0NN, EhRERNAE, BEUEh LR RR, FEARRE LG iiEsht4m,
MEATGEN O (R T AAZEL BRI ARERR L. . . [ESER.

RIG, LGRS H, TS, WURHE - H TS e, 75 a i, R UANIERIT S 2N E
SCMEER, TE b R AT DARE RN S N FVERE L, R UREAEMRAN IR T SRR, AT R 0] DLE HOE A

A NEAE 5 e H I, REULH O a &2 b, AR AEA—H, AN AR A B Re 8 U o
T3 s

Rk THRERa, YFRA3IMANET a, UM 3 AN RENLGRURNT 7NN, . . BEar
g u e JIRAGINERIMPZIE b (1), (HATRWFESAZED, G 7L Rt . (AT LI—Ur R
TE ST B S SL3 U MR IRA 18 T, R EAEE R d e £ e nd HE, (H&NERL—FAIR 2 JoEEEL
PIASFE . FAAFAHRAENEXS T HIFES:, HAZGAS “9RE] TR0, 16 T ates 77, &% —Fn]
PABEZ 17 B

Xl s, AEILRH .

—ANEE R A, . R, SR B R EH AN S E AN a reAE, BRI TIRAIRA,
A EURE R R, ..

A=NHAER cas e (BEUWRAHEIE) , LRIXTHME.

g EE, HRTHER FAEZAN, 10 0 54, 20 0 AEEEEALG, Radiek FE20 N, Rt
Do EARGRT AT, B RER AL . KRS LR AT REME,  BF IR 2 2R

SRFG T XA, X JUF AT Re IR ? ? ? @@

WEAERA IME BB, Mgtsoss 7ixAN RS mP, FRIER 2 0 0 0N, 10 0 HFEEHER 2
MSNRRAFE R BB AN . . BMEIR . FRHOME 7 — M ESHE, mEn, AftagIESk?
DASRWAPIET ? U, . . XA R L2 CRRAG) M) o A, FER TR E 2
WE—Fh A, PRTREATERLLAEE? Mk %, MAERFREX 2 0 0 0 MAREBRM KA. JyiHk. . . BT
AT PSR VAR, BRI DR K 2 A 25 5 7 W o T

WRIGAUL, HSEROZRIER, KA ARRE B, AMEAA RENE SR, —aoilth R — g
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[EE=

PAEE. .. gE. L. BT

A= EAB RS T ~L BB inal

—H AN HE, BA3 0494, 3 case, —CV.

CVT%%?

cas ey, #AMIT. AREHET ca s e bookPRERKM. AR, XZF S CHHES
9% o

A gk, MR KEMPE R, BT, KR REERT. W, RERR— N AEAE B
FE—FKEUT, MZUftAa? Z e a s e WAPRHEIE 7, BlH/5tHEFon track.

%:1,@¢Iﬁu4ﬁ KRR, VRUEAFIXFE B e AR A A4 ?

FA, KT MRATIIRIKRAER &, X SR 2 MER I 2 AR 1 H 517

M BRI R B, 2R, R N a s e AR, HT.

2.15 REHAZWHF

ZAENIWIZER RN 14 5 NI TR LS final L, i kKK o=

Final /& 3 4~ case Jll—> CV interview:

MR KT EARITE 5T default risk

UL — DM ERAT S DT R I R A A, BRI AR . AT R 2R AT default risk, i H—A
distribution k. IRAFEREMLLFEREZH 4 GhERET U4 o ), mHEER SR —BEERE. » RX
o se s T3] 7, T case R 7 —F==THF, LEL, Hatf, HiXEAa#mAH, Bk

BN RBAEEEKE BEAMRT, MIZEAE? BABER? KER T EARITIXMATE, ke —
¥

1X case WEAITEZEAM? 2 IRTBEENER T, ST EAEA framework 4 1), JEGCRAA WL A
%ﬁﬁmm@dmﬁﬁm,mﬁ%ﬁ&E,%Tﬁﬁ,?m%méTET!‘MT&zmmeMm,%mA%
AEE R RBATAM . -

5= E R R %8 insurance scheme?

XA case IS HLERIEH, SEib T VAF RO A AR A, Bk A TF— TR, & e X Xt
FEMATFFEN, BRI ME R UL AN, (H2 =D ak 7 —2fy, i LHGamE U, RS
BN T ~

FEVUANE CV EREF U . o o RE A, career goal, A&,

KGR LU NS 2010 Z A BEAR AR IS T BORE,  FRATTE BRI 2 B J7E 2010 FYTHKBURL L,
WERARA Z R /1, ARAT AR T IR TR BER Bk

2.16 ASEHIRHEHR

AR E LGS — i IEXHE R AR, ER -EREENAFZ —.
@%EMmmmﬁﬁ,mklmi%ﬁﬁjzg, PO iR I . ARVEAERR ) 4E EL A dow —THIAZTH hro fh]a)
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TIRZ I, B2 AN BiniE— V4 in . 2 J5IF46 open questions. 1RE I, At AREHE, Att4A &),
RGAR R L IE GRS, AREAFIRIEA WELeth 7y AR = 2 AT AW N AL TR E S K. KER hr #B1R %
W] — AN B A SRR AT R IR — R, ARREAFATSEAU? hr S5, SRR RS HTEE AL
KPR, REEAUL? blog ERECAICE T, AN RIMEEMB OmE, —eBEiesR. At
B hr IR ERIIXNE RN — TR R, Bgh AT i Ik 2 1.

TIHARIES, —3EPIET 5 AN/NEE, BLFEIRE A 1 AN/ mercer IRKTT, 2T LU HR T BRI R SR
REWG, KREIWZ T —t KR, WERTUCRL Wi, ZIEEH A, mHE, —FEARRL. XA NEHIRER, fh
ATk M social fRIFHJE T iR— NIk, #B/2 personality MR 2. WAMUIRMIER, A IFIZ 0 4R R MR 7o ANt e e
M5 FR, BIREZNFIEXANRAL, R A6k, MAIEEEZ T2 iR 7. X ami T .

ZJEHIEZAFNRIE . Joski2 intern ()R FIW REF B intern PIHATT N BABARME. MATH T
REZWRINES), FHER, MRS LW, BATRM, #oRk EEME, BaT iR . Sraee B b
Bt 2am B H, A R AZESE? It AEREEA RS . HSti s — gk — E R measE, FoRiE
W A TR R E A4 . A intern FEAKGEIRMFET . AR K — € B ST LS
R, AFNEZEA . AT ANEBR R, FTUARFF ORISR T HRATEFEVGRFIE T . A5 R AH
T consultant (143, Wr&ERLF, ERILAERISIRAHALL

ZJERERI I TR N —, 1E T 13 4E[# senior consultant. BifF A i) EHFVE 0], wRERIRI0 TR, AEWIE] T H A
K, Wkt westin CEHAL T RIREIE D IR, SEX 3T AR WIS X A4 KA H . ihERIRUL, AT retirement
department x&4> mercer # fun FEEIT. X BN NERAEHELF, 0 HEA — M ASTELE R BRI & 55
i, SERZDRE, EERN 2 AMHREIAER intern T, SERATE TIRZ N, FIBEHRIREEER .

AHIAAERERAE T . WAL hr FERFRMUL, 7R01— &2 B WIELXS FE. ST, O
HARZ LT .

F R RZEM BRI N KR M F IR R, SR BERE T o AT RN 7 IX AN .

BRI 2 X hr, WASRIEE R A4, ALEA hr jj REF, wiEibee 1 career fair EUC R IRAIMEI,
RN BL AT Wi ) T 3R A R EE S, A 20 EREA .

—RE TR, EECKREGLELT. MA1% consultant ) AFRIF3EM, PEASFIRLE, THEER—ESR
RIVE ). ME—ARRI LT k2, BN ERE T RIENE - L, IREA LIXAZEE? HSREZ A

FERE T WEREIK SR, SRR IR offer. FFls, AT 0T LLSZELLE L NERIS R], A¢7a 28 28 Hh ik 78 downtown
s EEE T D

2.17 RGHAMER R4

Case One

Interview: A Foreigner

Case:

Suppose a bank has three units which serve large corporate, small corporate business and individual business. For
this bank, 90% profit comes from loan business, so you are going to find more details about the loan business of the unit
of bank that caters to the large corporate business. You are going to provide the P&L analysis with detailed figures, given
that the total loan is 100billion USD. Me: In order to estimate the profit, that is the revenue minus cost of capital, | would
like to know about the term structure of the bank..

Interviewer: Please use concrete figure.

Me: So how many customers are there of our client?

Interviewer: It's up to you. How do you think with the 100 billion USD? Me: Then suppose we have 10 clients with
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10 billion each. Then I'd like to suppose the term structure. Let's say 50% of the loans are long-term with average year to
maturity of 10 years, 30% middle term with YTM 5 years, and 20% short term with YTM 1 year. How do you say to that?

Interview: Fine.Me: Suppose the interest rate of long term is 8%, middle 6%, and short 4%, so the average is 6.4%.
So each year we have interest revenue of 6.4 billion USD.

Interview: What about the cost. You don't have to estimate in detail of the cost.

Me: So just suppose an average 4% of interest rate.

If the market is mature and the bank’s market share remains constant. What

might bring down the profit?

Key: Non-performing loans.

Case Il: What's the population in year 3000?

Case IlI: If a US bank is going to set up a headquarter in Asia, what do

you choose? Singapore, HK, SH or BJ ? Why?

2.18 9 ZT GMC online numerical test Byl

[A 4 practice test (13 B AR AR iy 7™ 25 45t AR Co , BT DALE H R W b e vt RS AN IG RIS 0 R AE 7 I
R3] numerical B, 20 2341 30 &8, FEAUR practice MBS N A HMEFEAE X Skt s A D, s
AR K8 . TG AFIE RIS EAMEEA s S H, RE A 2578 L THR A S &b /2 skip 4,
ER P E S | RSB [a], 55T R [R] S 1S B . 1 KK — @I AN skip 5 9% 118 H !
BAAMEERIE office, SR TNNINMEITEE, BN RANE NEE2E T AR AL 5, 7EHAhE
ST T R AR LR AR RIS S AT

MRKIFIE !

FB=E. RAHMEREGRERH

3.1 B4 & RS ER iR #i# T CCER

2B OO NIE, —F R EBEESIRE Mk, 9 A 27 H, ARG SRS AT Ik R wg

XSS B B A 5 44 ) A | —— B ER %R A \) (Oliver Wyman Consulting) SREIE R FFH T 0. BA TR A F
SR BRI R KA R R S R EE &M AR 2 —, T 2007 4 5 H 9 H it 5 = RASE A A R 1735 e AL &
Oy F A LRl RIS R A~ 7] (Mercer Oliver Wyman) . 3€ tH& # i 7] /A =] (Mercer Management Consulting) F13¢ tH f
IR & 4% 22 7] (Mercer Delta Organizational Consulting) & 1%, &5 5 8T 2 748 FH 88— 1) S i 2 FR LA
) (Oliver Wyman) . #iARIRANEES TIRIERATILARMEALS, fEREGIE. 188 MEEE L, 44070 8 R50
F R TT M A A RE

MM, BRI, 8 Ak E B A RIS REBTA 2 A TR NI ER M I N B (R R 51 R 23 3,
SREEEATAT 7S AT WS RE T AT, FEArk 1T — kR sy B L A .

L —Is, BAE AR 45 Joe Badino DA ER KR . HB I I BB T I #iE, fiEg
[F 2P S, WX IR A A m] 1 — SRR, BAAmftt, a0 Joe JERpFRIR), «EIRIATH TAER ]
thie K, (H2 TAERS A IR RO n, WAREWEE . hE RN A T ARIRAZ TSR ERGRE, PLUEE
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B &R AT IR T .

K H B4 )1 Ellen HU 2oL ) 237 [ 24 PEAIAN 48 7 #E NS W4TV BT 75 22 148 R AN ZR 0T DL R B Y 1) R 491 1)
WEEREFE, AEKF FEWATIA TR T, HHHAEEIZAT R AR T B SRR &Rl
—MRSATI, AR R, AT m R P AR A A R, BIAATT A R R R B DI R, Elllen
PFEAT, “EWATIRAE PRS0, B E A TN M ae IR B TRk, 3+ A R4 8 RE
NP A N BENBEEE W AT I G, 5 T EEIGR 2 A S A, (2, “AERREIRM A,
PRAT DAMS B 2 B

M )G, BAEEWA &N Grace QIAO LR Nk H A 4A T B AT i O i e . fbiie,
EW R — M N TR R R AR e, R RS R AR H IR0 T R RS, HEanxd MG AR Bk TR K
RiFH, gESrARANE B RMRE S MR I AR TR S PUEESTRET) . AR R, G
RN AR fE %5, RS TEER AR ERE NS AT 2 V) & BAA R BB, W BB Ae 76 2 5 BIERY A JE v o
JZ R TR 3R I 20 R FE AN AT B AR E

PR R BB R IR T SRR, e Wolfram Hedrich 2642 5 B2 A FH TR F A8 € J5, Hedrich Ze4E 4 H
). S M3 20N RER (How many tennis balls do you think there are in the UKD 2 “Thii 3" M I [ i) A H %1
BATF, BIFEEE. Hedrich S E i G M gh v, T IXFERFT RO R R, TR HEA TR BRI H 1 IEf A R ——IX
A 0] R YA IR ST e i I S — 20— 20 5 )« TR 2 I i ko 2o i R 25 1) R4 7 X 5 i ok
Wl R 73, T ) AR R 7R AT IR R

LM, BAEERAF NG TE R M T FERIZ . SkEBLR Pan Yan 51FHERAT, BAE
WIS E BT TR LE KAG, MhRRR R =T 2B R A bbs FI& RAEIE 5 .
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